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0l) Multlple ChOICG questlons (MCQ’s). [20x%5=10]

a) thch of the following option is used to meaguze Q@é\“’sme of a user story
for ai:zwaglle project? : N
1) 5 %ﬁ Story points 11) Funcﬁon points
m) Velocity points ) W@Ik

b) Which of the following is nof amatﬁ 1buie ofa project?
1)  Projects are unique {:&A fwzf

i)  Projects are developed)
ii) Projects have prlm@usmmer

iv) Project reﬁnem@@?& KoVl

c) Ifateam can comp&@g@ 10 storir points in an iteration then how long w111
it take for théteam to cgr:ﬁ‘p]ete 100 story points? Mj;@ )
i) " Towaves o %5“‘ i) 10 iterations 3’:3 |
i) \20Awaves % iv) 20 iterations »_ @%

d) N\ Following is (are) the respons1b111ty (ies) of the proleg"?manggé
' 1) Budgeting and cost control i)  Allocating ‘%ﬁe oumes

bog«{é‘b

oxé*talled in DSDM

i) Tracking project expenditure iv) Allo

e) What are the fixed-length of development if

methodology? %@a}
1)  Timeboxes 4
i) Units
f)  Function count is developed by
i) BaryBohem ii) EQlanAlbrecht
u) Pressman 1\4.)?5 None of the above

PTO.



8) Which command creates an empty git repository in the specified

directory?
) gitinit S0 i) gitvog
i} gitreget tx iV;  nome of the above

h)  Which mode yo ‘v b.for the project size 450 KLOC?

) Orgam;% / i) Semi-detached
i)  embeged 1v)  None of them

P
5
;

)  Which @%ghé {f@i b'wing git command that download YOUr repository
ithiib te’your computer?

s

iy @it fork ) git commit
i), gitgidée iv)  git push .
3 N . &
J) COCQMO predicts : r
1) ~. Effort ) Effert schedule
i) Cost & effort 39, Cost & schedule
P N s Yo *
k) The working culture of an Agiveg%gi?m i ~ )
. . s 9 /m- L) ‘ .
)  Collective {%?3 ) ~ Collaborative
i) Connective ® v i) Contemplative
% g %) . g -
) enables team tg @m fréth the mistakes dose in the previous
Iteration. Wf‘ ' 2.
) Pair groominglﬂ;xgi ' "'“5’;}
i)  Estimation dlmg fele%s~é planning
ii) Estimatiod duringgifgg;ranon planning N
. . O S
Iv) Retrespeetive o DR
. S i O,
m) You can define “agile team as “scrum team’; and “teGhnical
team™ : : O
e % o~
D _True i) False A7 &Y
i)  Cannot determine iv) Nonewf e apgve
; ;s ’ . FERERI @ Deriigh " N0 o i,
n) Tracking projectissues in an agile project is gigfpu @ﬁresponmblhty of
the 5 A &yjé
) Tester 1i) ek { teader
g : LN ALY
1i)  Functional manager xé)WEDeV%IQper
0)  What is the main purpose of Imposing 1i111%1}011 work in project?
) To optimize throughput i) T minimize resouyrce allocation
iii)  To visualize lead time v To balance workflow
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p)

q)

t)

b)
b)

03) a)

b)

b)

Select the option that suits the manifesto for agive software development.
1)  Working software ..1) Individual and Integration

i) Customer collaboration iv) All of the above mentioned
Delphi method 1s used 101 Ny

i)  Judgemental torecast $ i) Time series forecast ( _

1ii) Assomatlvw .viodel F iv) All are the correct '
Gitisa | ‘

1) Locahseg; /eTSio i control system

_Aal) Dlsm 1,huted ersion control system
1ii) Ce% ;ahzgd version control system
iv) {None of the above
In:serum, ¥ lfén is sprint over?
1) ! When ‘all the sprint backlog items are completcd
11) hen the product owner suggests > o
1i1) o, s&*‘v’\/hen the time box expires ?;Q’
1\4;};* 'When the final testing is completes A\
Which of the following is not the léwgl'of C’%M"
i)  Defined @;% w‘Analysls
i) Managed %W

A large construction compgt &iengaged in real estate construction business
decided to develop ER :‘mugﬁr Astha softech. The output of system
will be cost sheets dei%;;mg the' relevant information for contracting,
budgeting, progresﬁ@mtormg and bill payment. Astha softech team
has no domain lmo%&lédggi%s a project manager, you have been asked

to suggest risk managerient strategy after identifying the risk. ”%E“ﬁ]
‘%m
>
Explam the beneﬂts%nglle project management in bn@% @’*‘ T 4]

OR
Explam sprint retrospective in detail.

A project of 200 KLOC is to be developcd S :
has average experience on similar type of projctts. gﬁre project schedule
is not very right. Calculate the effort, de %pg}ﬁu time, average staff
size of the project by using semi-detactred’ moﬁe of cocomo model. [6]
Differentiate : Agile project man@ment v/s Traditional project
management. @m h [4]
OR &
Explain Agile project management liquj:s%/”ble.
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04) a) Demonstrate value-driven development with suitable example. [6]
OR .
Explain the roles of scrum master;product owner and develorment team

e’ 16}

05) a)

OR

P
¥

Explaiy the prdcess to plan and execute iteration i
exar i
b)  Write short note (any one). (4]

g

) _'Role of project manager.
i)y ’Software configuration manageme
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